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He is always a free-man - PUIT 32 R ARYD

OVERVIEW

The & m3 quotes the mwn of 131 1031 25 AN to prove that w"? maintains
X127 11°379; we may divide a statement. A statement is valid (if we maintain
X127 11°399) even if the statement cannot be fulfilled in its entirety. We will
validate the part of the statement that is applicable, regardless that we reject
the full meaning of the statement. The quote from w"9 concerns the case
where the master confers all his possessions to his 72y, but he retains
something for himself. The 72y, according to w"9, will go free. There is a
dispute between *"w7 and MdoIN how we derive from this statement of "
that he maintains X12°7 32°379. Superficially there is no need for X112°7 132395
to explain the s"72v freedom. The 73¥ acquires all the possessions of the
master, besides the exclusion, and acquires himself as well, as one of the
possessions. We are seemingly not dividing the master’s statement at all.

mooIn quotes s™"¥ interpretation:
-DY09) INY NPT NI NIY N7 ¥IWND O2IYY N1YNY 229 9IRPTI D90NPN Y0

»"wn explained' since @' said: the T2y goes free ‘always’, it means that
there is no difference whether the 71V acquired the rest of the

possessions (this would be in a case where) -
= 9YVYN Y99V "D

For instance the owner specified the exclusion; then the 72y would receive all

the possessions, except what was excluded, and goes free -
= 99YY YPIP 999N NIV 1D NP NDT NI NIYW XD

And there is no difference whether he does not acquire the rest of the
master’s possessions, for instance where the master did not mention

specifically the land he excluded -
- YPYP DIV NP XY ROWNT YPIP N3 17an N 7Y anav

That the master wrote in the “vw to the 72y, all my possessions belong to
you besides one "> ns2 of land’, that now, in this case, the 72v does not

acquire any land at all -
= WYY NI 1NT 91991 NIIN 1N 11 Hasy

1 "
oI
> A 2 2 of land is a parcel where one can plant 30 7X0. A X0 n°2 is a parcel of land 50x50 nax or 2500
square NMX. A 712 n"2 contains 75,000 square NnX. It is a square approximately 273.86 N1k on each side.
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For on each 7> n°21 that the master possesses we can say that this is the n»2
715 that he retained for himself -

- N9Y2%7 19299 NN 1IN 12 NIN 297 1929N)
And nevertheless the 72y is a free man; regardless of the fact that he

receives no possessions, this proves that we ‘divide the statement’
= 18P NN NN N3P XY 79D 99N 19093 U5 NPT

For the owner said to the 72y ‘all my possessions are granted to you, except

for a 7> N2’ and he only acquires himself to be free; but does not acquire any
possessions; even those in excess of the 712 n°2 that the master retained for himself. If we
were to maintain X712°7 12399 X7 then only if the 72¥ would acquire the 0°021 (in excess of
a 70 n°2) can he go free. If he does not acquire the 11787 °023, then the statement >031 9
72 1P cannot free the 72y, since the statement is not being adhered to completely. The
72¥ is not receiving T3 n°an 77 031 23. However if we do maintain X112°7 120395 then at
least part of °021 95 is acquired by the 7av; namely himself. This concludes s"“"w"
interpretation.

mooIn takes issue with s""w9 assumption that if the master is 7™wn a 712 n°2 without
specifying which 712 n°3, then the 72y will receive no ¥pap at all, since on every M n°2
we can say that the 17X meant to retain this 713 n°2 for himself. Moo1n will argue that this

. 3
1S not so™.
- 1’9 HOINT ypp 55 NP OPNn 591 YPP Qv 92 NY7 23 Yy G NOYPI

And it is difficult to accept what "1 is saying, for even though the owner
did not mention the name of the land that he is retaining for himself, the
rule is that nevertheless the 71y acquires all the land that the owner

possesses besides a 112 02 -

- DYDY MY 1D %2 LYY PIRN NP “NNNNNH Y Tayh Y NN
However the 72y is in the weaker position relative to the owner, and the
master may take for himself a 99> n°2 from the best fields of his
properties. The 72y cannot claim, prove that you meant to retain this best field for
yourself, perhaps you only meant to retain for yourself an inferior field. The 72¥ cannot
claim this. The 117X is the original owner of all the fields; we cannot remove him from any
field unless we have adequate proof. On the other hand the 17X is entitled to only one n°2
713; any M3 n°2 he chooses. The rest of his 0’031 go to the 72v.

mooIn proves his point that the 117X may retain only one 712 n°2; whichever he desires:

3 s and NN, however, agree as to what constitutes a situation where X112°7 17399 is applicable. In this
case of the 72y, it is where the NX says *021 %3, and the 72V receives no 0°031 (only himself).
* Literally, the 72 has the ‘underhand’; instead of the’ upper hand’.
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= Y1TY SN 1Y N335 7Y 999 2IN DTV I8N (3,17 91 xIna x32) NN 12 7992 )INTH
as we learnt in a 7% in > n%2 P99; if an owner of a field says to a
prospective buyer, ‘I will sell to you half of the field’; the owner must
leave to the buyer half his field -
- ANHNNN HY HOYN Ya 17 YIND YN NPIYT BNN YWH9N)
And the X723 there explains the 71w» to mean that the buyer is only
entitled to take the inferior half of the field; while the owner retains the
better half. The reason is because the bearer of a =vw is in a weaker
position. We see from that X3 that even though the Twwn Sva is annnna %y 17,
nevertheless he does receive half the field, albeit the inferior half. The owner cannot
claim that since I did not specify which half, therefore I can renege on the whole deal. On
each half that you will want to take I will claim that for myself. The seller cannot do this.
Here too, even though the 177X did not specify which M3 n°2 he is retaining, that entitles
him only to retain whichever 7> n°2 he desires. The rest of his properties, however,
belong to the 72v.

According to this refutation of *"w9 we seemingly do not have a case where 1waw "
maintains X12°7 1°399. In the case which *"w1 mentioned, that the 177X said 712 n°an v,
the 72v does receive all the 0°021 minus that 715 n°2; which is what the R said. 72°3%9
X727 is not relevant to this situation. M50 will now present to us a different case in
which the 72y receives no 2°021 in spite of the fact that the 1R said 72 1°1p 031 92. This
will be the case of X127 j1°390.

= 192N Y011 N PYNY 2297 ODIYHT PN 13929 99IN)
And the °"= says that when @'+ said '2»wp%' — ‘Always’, he comes to

include even such a situation where —
= 1Y NN IN YN NN NIN 1D PPN

He does not own anything besides this city, that he is retaining for himself

or that field that he is retaining for himself -
- *Anoa 8PP 99931 *NINA NIAT NNODINA NOYD 2INPTS

As it says in the X2°0 in the Xnpoin of 22 and in the first P9p of the

XNooIN of NP -
= 19990 12 NXID DOIYY 9N PYNY *4

w''9 says he is always a free-man -
= 1NAYW N1 THNND NIN 272y INYAY DN YD) U MNIY 1Y

Unless the 17X says ‘all my possessions are given to so and so, my slave

57 vpm.
%10 % P12 xNOON.
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besides one ten thousandth of them’. In this latter case he does not go free for we
assume that this phrase "172w X12°7n X' refers to the 72v. The Xnd01N continues, if the 17X
- MY AN IN PPN DIN NIN DY PN 1IN 3199 ATUM VIN 1T P PN N

said ‘all my possessions are given to so and so, my slave, besides that city
or besides that field’; which the owner is retaining for himself even if all

that the 17X possesses is that city or that field, the 77 is -
- 1725 Taya NYN Y023 Y2 9127 01PHN PPN PNN 12 18Y NP DY033 Tay Nt

The 72y acquires the possessions of the 117X, namely that he acquires
himself as a free-man’, and the statement of '»o21 %' (all my possessions

are given to my servant) is not fulfilled only concerning the 72y himself,
since he does not acquire anything else at all besides himself; he receives no possessions

since the owner retained all the possessions (the city or the field) for himself.

= 9093 Y5 9RY 111 191327 YN IN 9MINYI NN Sm9m
And I might have said, that when the 117X said ‘besides this city, field,
etc.” he is nullifying he statement that he previously said ‘all my

possessions are given to you’. The initial statement 021 73" implies that he is giving the
72¥ something, besides himself. When he subsequently says ‘besides all my possessions’,
he is seemingly nullifying his previous statement, and he is not granting the 72¥ anything,
not even his freedom -

$N9Y2T 1392097 MYINYD RN 991 1D2ONYT 1D YIYWN NP

v"7 comes to teach us that nevertheless the 72V goes out free for we

divide the statement of the 178. He may not be giving him any property, but he is
granting the 72y his own freedom. He will receive part of the *031 3.

SUMMARY

There 1s a dispute between *"w7 and N1©01N in the case where the NIX wrote
710 noan YIn TR 7P v001 9o, According to °"wn the 72¥ cannot acquire any
ypap at all. MDon maintains that the 72y acquires all the yp7p except for the
713 n°2 the owner chooses to retain.

""w7 can prove that w" maintains XM2°7 11°3%9 from this case, that even
though the 72¥ receives no 0°021, nevertheless M7 12 KxY.

According to mo0In we prove that w"9 maintains X112°7 12375 from the case
where the property that the NIX retained was all the property he owned. This
will leave the 72y without any property at all and nevertheless he is XX

7 The 72v is the (only) possession acquired. See »"ni for an alternate interpretation.
¥ In the w"X"77 MooIN there is no mention of the entire phrase °031 ....X"M. See “Thinking it over # 2.
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THINKING IT OVER

1. Can we find an advantage in the manner '@ formulates the need for
XT12°7 737399; the case of M2 nvan yn 772 11 021 93, as opposed to how
MDOIN presents it (7Y NN KIX 12 PRI 1Y MR PR T2 73 021 99)?°

N

2. When mpoin says '1m2°7 Huan Yo ™ is this 8™ related to X127 110399
or is it a general X"17 that he 1s reneging on his offer, irrelevant to the issue
of Xx112°7 1a59?'!

? See "X # 121.
10°See footnote # 8.
' See 1op Mk A7 oMY M.
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